Math 1111






Name ____________________
Practice Test for Chapters 6 (6.1–6.7) & 12 (12.1)





Show work, when possible. Each part is worth 4 points.
1.
Complete the table, and graph the following exponential function. Clearly show any intercepts and asymptotes (horizontal or vertical) —  any features of the graph that apply.
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	x
	y 

	-2
	 

	-1
	 

	0
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2.
Find the exact value of 
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 without using a calculator. Explain your reasoning.


__________

______________________________________________________

3.
Use properties of logarithms to find the exact value of each expression. Do not use a calculator.
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4.
Find the domain of y = log x. Multiple choice.
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5.
Use the Change-of-Base Formula and a calculator to evaluate 
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. Round your answer to 4 decimal places.
_______________

6.
Sketch the graph of the function given by 
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 using transformations. Include any asymptotes and intercepts.
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7.
(a) Complete the tables below for the given exponential and logarithmic functions.
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y = log x
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(b) Graph these two functions along 

      with y = x on the coordinate 


      grid. Include any asymptotes 

      and intercepts. 

8.
Solve for x. For all parts, give exact solutions (no rounding).
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9.
Solve for x. Round your solutions to 4 decimal places, when appropriate.
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10.
Write each expression as a sum and/or difference of logarithms. Express powers as factors.
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11.
Write the expression as a single logarithm.
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Solve the following application problems. 

12.
The formula for the accumulated amount of an investment is given by the following formula: 
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, where P is the principal, r is the annual interest rate, n is the number of annual interest periods (or compoundings), and t is the number of years. 

If $15,000 is to be invested with quarterly compounding at a 5% annual interest rate, what will the accumulated amount be in 10 years? Round your solution down to the nearest hundredth.

13.
The formula 
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 gives the accumulated amount (A) of an investment when P is the initial investment or principal, r is the annual interest rate, and t is the time in years. We are assuming continuous compounding and no deposits or withdrawals. For an initial investment of $1,200, compounded continuously at a 4.5% annual interest rate, find to the nearest tenth of a year when this investment doubles in value.

14.
In chemistry, the acid potential of aqueous solutions is measured in terms of the pH scale. Since tremendous swings in hydrogen ion concentration occur in water when acids or bases are mixed with water, pH uses a logarithmic scale. The pH of a substance is defined as 
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, where 
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 is the hydrogen ion concentration, measured in moles per liter. If strawberries have a pH value of 6.0, find their hydrogen ion concentration value. Use scientific notation with values in the notation rounded to the nearest tenth.
15.
The value V in of a Chevy Cavalier Coupe that is t years old can be modeled by the exponential function 
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. What is the approximate value of an 8-year old car? Round to the nearest hundred dollars.

16.
The population of a southern city follows the exponential law. If the population doubled in size over an 18-month period and the current population is 10,000 people, what will the population be 5 years from now, assuming that the exponential growth continues? Round to the nearest thousand.

17. 
Which of the following ordered pairs is a solution of the given linear system? Multiple choice.
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(a) (-2, 2)

(b) (2, -3)

(c) (0, -6)

(d) (2, 0)

18.
Find the solution of the system of equations.  
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19.
Find the solution of the system of equations.  
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20.
Find the solution of the system of equations.  
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Do your best! Rise to the challenge! Live and learn!
Practice Test for Chapters 6 (6.1–6.7) & 12 (12.1, 12.6)



        Solutions
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1.
(a)


(b)

	x
	y 

	-2
	 1/25

	-1
	 1/5

	0
	 1

	1
	 5

	2
	 25


2.
3 since 3 raised to the third power is equal to 27

3.
(a) 17


(b) 
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(b) (0, ∞)

5.
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6. 
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7. 
8.
(a) -½ 

(b) -½

(c) 62

9.
(a) 3.4560
(b) 2.1610
(c) -1

10.
(a) 
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(b) ln x + 2x


11.
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12.
$24,654.29


13.
15.4 years

14.
1.0 x 10-6 mol/L
15.
$3,000



16.
101,000 people
17.
(d) (2, 0)
18.
(0, -2)



19.
No solution

20.
(-1, 2, -3)
y = log x
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